[I. Calcul littéral :

1. Développement et factorisation :

a. Activité 1:
1) Développer et réduire 2) Factoriser :
a=15b—-15¢c b=10a + 5¢
a)x(2c+1)  b) 5x2 (x+7)
C=—2x+2y+2

c) (3x+ 1_]'2 d) (4x-3 }2

e) (5x —2)(2x + 3) d=(3x+1) (Sx +3) + (3x+ 1) (2x+ 2)
e={7x—3)2+(7x—-3)(x+2)
£) 222 (o2 +5x +9)— 22 ~15x
Ha—2F-3{x=1)

b. Définitions et propriétés :




Propriété 1 :

ExemEles:
3(5a+7) = 3xba+3x7
=15a+21
‘\/g(\/g—l)=x/§><'~/§—\/§xl
5 —\5=5-45

Propriété 2 :

Exemple :
(3—a)da+2)= 3x4a +3x2-axd4a —ax2
=12a+6-4a’>-2a
=-4a’+10a+6

Définition 2 :

Propriété 3 :

Exemples :

« 4a’+3a=4axa+3xa=a(da+3)
x (X+7)5-4x)-2(5-4x)=(5-4x)x (x+7-2)
—(5 - 4x)(x + 5)

% (x+3)%+(x+4)(x+3)=(x+ 3)(x+3+x+4)
=(x+ 3)(2x+7)
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